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SECTION-A
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i) General Awareness

D.D.T. was invented by
(A) Mosley

(B) Rudeolf

(C) Karl Benz

(D) Dalton

Exposure to sunlight helps a person
improve his health because

(A) Resistance power decreases
(B)
(C)

Resistance power increases

The infrared light kills bacteria in
the body

The ultraviolet rays convert skin oil
into Vitamin D

(D)

The Hindustan Shipyard is locatedin
(A) Chennai

(B) Mumbai

(C) Vishakapatnam

(D)

Name the plant
sericulture

(A)
(B)
(C)
(D)

Mangalore

important In

Pea
Legumes
Mulberry
Cassia

Country that is highest in Barley
production

(A) China

(B) India

(C) Russia

(D) France

6.

10.

Mount Everest is located in
(A) India

(B) Nepal

(C) Tibet

(D) China

Dr. Zakir Hussain was
(A) the first Muslim President of India
(B) first Vice President of India

(C) first President of Indian National

Congress

(D) first Speaker of Lok Sabha

India's first ocean wave’s energy
project was launched in

(A) 1981

(B) 1991

(C) 1995

(D) 2000

India’s first indigenous helicopter was
successfully flown in Bangalore on

(A) August 30, 1992
(B) August 30, 1982
(C) August 30, 1990
(D) August 30, 1988

How many medals came into the
account of India during the lasi
Commonwealth Games in 2002 at
Manchester ?
(A) 32
(C) 69

(B) 24
(D) 16
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11.

12

13.

14.

15.

Kathakali, Mohiniatam and
Ottamthullal are the famous dances of
(A) Kerala

(B) Karnataka

(C) Orissa

(D) Tamil Nadu

The 2006 World Cup Football
Tournament held in

(A) France
(B) China
(C) Germany
(D) Brazil

Under Akbar, the Mir Bakshi was
required to look after

(A) military affairs

(B) the state treasury

(C) the royal household

(D) the land revenue system

The ratio of width of our National flag
to its length is

(A) 35
(B) 2:3
(C) 24
(D) 34

Thillana is a format of
(A) Kuchipudi

(B) Odissi

(C) Bharatanatyam
(D) Kathak

16.

17,

18.

19.

20.
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Which of the following is NOT written
by Munshi Premchand ?

(A) Gaban

(B) Godan

(C) Guide

(D) Mansarovar

Who directed the filmt ‘1942 : A Love
Story' ?

(A) Mahesh Bhatt

(B) Vidhu Vinod Chopra

(C) Yash Chopra

(D) Ketan Mehta

There are members

of SAARC.
(A)
(B)
(C)
(D)

@ =~ o,

180 degree Longitude is known as
(A) Prime meridian

(B) International date line

(C) Greenwich time

(D) Equator

The personal account cannot be
opened in

(A) A Cooperative Bank

(B) A Schedule Bank

(C) The Reserve Bank of India

(D) A Private Bank
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21.

22,
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i) General Intelligence and Reasoning Ability

Pride is to lion as shoal is to
(A) teacher (B) student
(C) self-respect (D) fish

Here are some words translated from
an artificial language.

briftamint means militant

uftonel means occupied

uftonalene means occupation
Which word could mean “occupant” ?
(A) elbrifta

(B) uftonamint

(C) elamint

(D) briftalene

Directions for Q.No.23 & 24 - Each question
has an underlined word followed by four

answer choices. You will choose the word
that is a necessary part of the underlined

word.

23.

24,

Guitar

(A) Band
(B) Teacher
(C) Songs
(D) Strings

Election
(A) President (B) Voter

(C) November (D) MNation

Latest Sarkari Jobs, Govt Exam Re:sults, m
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Directions for Q. No. 25 to 27: Each problem
consists of three statements. Based on the
first two statements, the third statement may
be true, false, or uncertain.

25. The temperature on Monday was
lower than on Tuesday.
The temperature on Wednesday was
lower than on Tuesday:
The temperature on Monday was
higher than on Wednesday. |
If the first two statements are true, the
third statement is
(A) true
(B) false
(C) uncertain
(D) certain

26. Oat cereal has more fiber than comn
cereal but less fiber than bran cereal
Corn cereal has more fiber than ric
cereal but less fiber than whea
cereal.

Of the three kinds of cereal, ric
cereal has the least amount of fiber.
If the first two statements are true, t
third statement is

(A) true

(B) false

(C) uncertain

(D) certain
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27. Apartments in the Riverdale Manor

cost less than apartments in The
Gaslight Commons.

Apartments in the Livingsion Gate cost

more than apartments in The Gaslight
Commons.

Of the three apartment buildings, the
Livingston Gate costs
the most.

If the first two statements are true,

the third statement is
(A) True

(B) False

(C) Uncertain

(D) Certain

28. Arrange the following in a meaningful

sequence ;
1. Mother
2. Child

3. Milk

4. Cry

3. Smile .
(A) 15243

(B) 24135

(C) 243,15

(D) 32154

Latest Sarkari Jobs, Govt Exam Re§ults,
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29. Arrange the fol

seguence ;

1. Leaf

2. Fruit
Stem
Root
Flower
(A) 34512
(B) 41352
(C) 43125
(D) 43152

oA o

much.

next ?
(A) 104
(B) 414
(C) 420
(D) 445

(A) 20
(B) 25
(C) 30
(D) 50

lowingina meaningful

Direction for Q. No. 30 & 31:Ineach series,
look for the degree and direction of change
between the numbers. In other words, do the
numbers increase or decrease, and by how

30. Look at this series : 201, 202, 204,
207, ... What number should come

31. Look atthis series : 80, 10,70, 15, 60, ...
What number should come next ?
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(A) &=

1, Hi
2. forg
3.
4. T

5. &g

(A) 1,5,24,3
(B) 2,4,1,35
(C) 24315

(D) 321,54
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31.

JDD-34/PGT-SANS/X-14

29. = = syefqvl ohm & wrrd |
1.
2
5
4

1449 3

5.
(A) 34512
(B) 41,352
(C) 431,25
(D) 43,152

faw (3. . 30 afw 31) : oS gEen §
HEATHI % = % Faens 6 7 i R 6

Sﬁtﬁﬁﬁﬁthﬁ,waﬁmw
B, R a7

30. @ 201,202, 204, 207, ... F 3

R RE-H R 7
(A) 104
(B) 414
(C) 420
(D) 445

G : 80, 10, 70, 15, 60, ... F e
HET R R 7

20

25

30

50
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Direction for Q.Ne. 32 to 35 » Look carefully
for the pattern, and then choose which pair
of numbers comes next.

32.

33.

35.

Look at this series - XXIV, XX, . X,
VIll, ... What number should fill the
blank ?

(A) XXl
(8) Xill
(C) XvI
(D) IV

Look at this series - 15, 0.3, ,
1.2,24,.. What number should fill the
blank ?

(A) 4.8
(B) 0.006
(C) 0.6
(D) 0.9

Look at this series - U3z, vag,
X23, Y20, ... What number should fill
the blank ?

(A) W2s
(B) W17
(C) Z17
(D) 226

Look at this series - 70, 71,76 _ .
81,86, 70, 91, ... What number should
fill the blank ?

(A) 70
(B) 71
(C) 80
(D) 96

-12-
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36.

37.

40.
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Which word does NOT belong with
the others ?

(A) noun

(B) preposition

(C) punctuation ‘
(D) adverb

Rl B B
(A) 210
(B) 338
(C) 343
(D) 350

26:5::65: 7
(A)
(B)
(C)
(D)

O @ =

25:125::36:7
(A) 180
(B) 208
(C) 216
(D) 318

Direction for Q. No. 40 - Choose that set of
numbers from the four alternative sets, that
is similar to the given set.

(6, 36, 63)

(A) (7,49, 98)
(B) (8,64, 46)
(C) (9,84, 45)
(D) (21,91, 35)
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32.

34,

A

Y@ XXIV, XX, _, X1, v, . #
Ea =AW F - g s ?
(A) XXN

(B) X

(C) XVi

(D) v

Y@ :0.15,0.3, 12,24, . %
Ta T e -~ g s 7
(A) 4.8

(B) 0.006

(C) 06

(D) 0.9

@dT: U32, V29, |, X23,Y20, ..
e Term av v -t Hea st ¢
(A) W26

(B) W17

©) ‘Z17

(DY 226

I@e1: 70,71, 76, __, 81, 86, 70, 91,
... T T 2o ot - T e 7
(A) 70
(B) 71
(C) 80
(D) 96
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36. ¥4 ME s EN-mR 7
(A) =
(B) e
(C) Tmfag-faum
(D) Terrfasm

e B gga ay
(A) 210
(B) 336
(C) 343
(D) 350

38. 26:5:65:7
(A)
(B)
(C)
(D)

39, ,25:1251:86: 7
(A) 180
(B) 206
(C) 216
(D) 318

O 0 =~ o

ey e, e augl @ 99 fifi

40. (6, 36,63)
(A) (7,49,98)
(B) (8, 64, 46)
(C) (9,84, 45)
(D) (21,91, 35)
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41,

42.

43.

44,
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iii) Arithmetical and Numerical Ability

A tank is 25 m long, 12 m wide and
6 m deep. The cost of plastering its
walls and bottom at 75 paise per
sg. m, is

(A) Rs. 456

(B) Rs. 458

(C) Rs. 558

(D) Rs. 568

A pupil's marks were wrongly entered
as 83 instead of 63. Due to that the
average marks for the class got
increased by half (1/2). The number
of pupils in the class is

(A) 10
(C) 40

(B) 20
(D) 73

The compound interest on a certain
sum for 2 years at 10% per annum is
Rs. 525. The simple interest on the
same sum for double the time at half
the rate percent per annum is

(A) Rs. 400 (B) Rs. 500
(C) Rs. 600 (D) Rs. 800

The angle of elevation of the top of a
tower from a certain point is 30°. If the
observer moves 20 m towards the
tower, the angle of elevation of the top
of the tower increases by 15°. The
height of the tower is

(A) 17.3m

(B) 21.9m

(C) 27.3m

(D) 30m

-14-

45,

46.

47.

48.

49,

50.

The sum all even natural numbers
between 1 and 31 is

(A) 16
(C) 240

(B) 128
(D) 512

What percentage of nurr;bers from
11070 have 1 or 9 in the unit's digit ?
(A) 1 (B) 14
(C) 20 (D) 21

Out of 7 consonants and 4 vowels,
how many words of 3 consonants and
2 vowels can be formed ?

(A) 210 (B) 1050

(C) 25200 (D) 21400

Three pipes A, B and C can fill a tank
in 6 hours. After working at it together
for 2 hours, C is closed and A and B
can fill the remaining part in 7 hours.
The number of hours taken by C alone
to fill the tank is
(A) 10

(C) 14

(B) 12
(D) 16

A bag contains 6 black and 8 white
balls. One ball is drawn at random.
What is the probability that the ball
drawn is white ?
(A) 3/4
(C) 1/8

(B) 4/7
(D) 37

The age of father 10 years ago was
thrice the age of his son. Ten years
hence, father's age will be twice that
of his son. The ratio of their present

ages is
(A} 912 (B) 7:3
(C) 9:2 (D) 13:4
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(A) 17.31 (B) 21.9+
(C) 27.34 (D) 304
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(D) 21
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(A) 210
(C) 25200

(B) 1050
(D) 21400

: A,Baﬁtca?ﬁqtrrétrqméﬁﬁsﬁﬁ

q ﬂtﬂ?ﬁ‘ﬁ!r?ﬁ?ﬁaﬁa‘lﬁa
mcﬁmﬁmm%sﬂzﬁi
:;Tg;mwm?aﬁﬁméﬁ%naaaﬁ
%qa%mcmsaﬁﬁéﬁm
(B) 12
(D) 16

(A) 10
©) 14
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o1.

52.

53.

o4.

55.

A*

Which of the following has the most
number of divisors ?

(A) 99
(C) 176

(B) 101
(D) 182

What is the sum of two consecutive
even numbers, the difference of
whose squares is 84 ?
(A) 34
(C) 42

(B) 38
(D) 46

Two, trains, one from Howrah to
Patna and the other from Patna to
Howrah, start simultaneously. After
they meet, the trains reach their
destinations after 9 hours and 16
hours respectively. The ratio of their
speeds is
(A) 2:3
(C) 6:7

B) 4:3
(D) 9:16

A vendor bought toffees at 6 for a
rupee. How many for a rupee must he
sell o gain 20%7
(A) 3
€) 5

(B) 4
(D) 6

A bag contains 50 p, 25 pand 10 p
coins inthe ratio 5: 9 : 4, amounting to
Rs. 206. Find the number of coins of
each type.

(A) 360, 160, 200

(B) 160, 360, 200

(C) 200, 360,160
(D)

200,160,300

-16-

56.

57.

58.

59.

60.

U AU AU e

Reena took a loan of Rs. 1,200 with
simple interest for as many years as
the rate of interest. If she paid Rs. 432
as interest at the end of the loan
period, what was the rate of interest 7
(A) 3.6

(B) 6 .

(C) 18

(D) None of these

The costof Type 1 rice is Rs. 15 per kg
and Type 2 rice is Rs. 20 per kg. If
both Type 1 and Type 2 are mixed in
the ratio of 2 : 3, then the price per kg
of the mixed variety of rice is

(A) Rs.18 (B) Rs. 18.50
(C) . Bs:19 (D) Rs. 19.50

Excluding stoppages, the speed of a
bus is 54 kmph and including
stoppages, it is 45 kmph. For how
many minutes does the bus stop per
hour ?

(A) 9

(C) 12

(B) 10
(D) 20

A and B together can do a piece of
work in 30 days. A having worked for
16 days, B finishes the remaining
work alone in 44 days. In how many
days shall B finish the whole work
alone?

(A) 30 days
(C) 60 days

(B) 40 days
(D) 70 days

The length of diagonal of a cube is
14 cm, The volume of the cube is

(A) 2744 cm?3
(B) 2544 cm?
(C) 588 cm?
(D) 3528 cm?3
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51.

52.

53.

54.

ﬁmﬁﬂ%aamaﬁa@mmaaﬁ%?
(A) 99 (B) 101

(C) 176 (D) 182
ﬁmm#@mﬁaﬂaﬁgaﬂn%%
T T A 84 2 7

(A) 34 (B) 38

(C) 42 (D) 46
mﬁmﬁﬁwﬁaﬂt'{ﬂﬁmﬁr
maﬁm?wmm%:

mémﬁﬁaﬁ%mmm:g
i 15@'ﬂmmwﬁq§ﬁ

%laﬂ%ﬂﬁm@m%

(A) 2:3 (B) 4:3
(C) 6:7 (D) 9:16
wﬁ%m%mﬁaaﬂ%ﬁ@ﬂam%l
20% TATHT FHH & o 77 v v
Toraft it 3

(A) 3 (B) 4

(C) 5 (D) 6

. TEHEATH 206 %. % 50 %@, 05 ¥ 2y

10?&?%%3%5:9:4%15%‘13:
m%ﬁﬁﬁ%ﬁ&mwml
(A) 360, 160, 200
(B) 160, 360, 200
(C) 200, 360,160
(D) 200,160,300

57

| 58,

80.

60.

JDD—GMPGT-SANSIXJ‘!

=13 1,200 ®. F1 TH e sar9 =
o1, 3 a9 % R

(C) 18 T
(D) 395 & =5 7

. ﬁmrﬁnaaimaam &, ufq ..
‘%afn%memaaﬂt@ 20 %. gfg
ﬁ&‘»ﬁﬂﬂ%flﬁ%%mﬂfﬁ%mzﬁ
F2:3 %aaaatrraﬁfﬁwmm%,a‘r
gﬁm%m%maam{au%%.m.

(A) 18% (B) 18.50%.
(C) 19% (D) 19.50%.
Wﬂﬁm%mmﬁgq@wﬁﬂ%

(B) 10
(D) 20
A 3% B T & uF 30 & § =
Ha#fﬁimsﬁ:rmw%a?ﬂam

ST M STl B 44 i & uof e 3 |
BT 31ehent e famt & s e 7

(A) 30T (B) 40feq
(C) 60f (D)

@m%ﬁm#mﬁmﬁ.ﬁ,%i
3 U T o 2

(A) 2744%. 3 (B) 25444 . i3
(C) 5884, i3 (D) 3528%,

Latest Sarkari Jobs, Govt Exam Re§ults, m
Vacancies and updates on one click

-

g




s
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iv) Test of Language : Hindi
aTaT it ; B
Tferfiaa el 3 3 g fefian | 91 69 - 70 : 51 & wFR I vE=EE = |
61. 394 4 frudfiadfiya? 7 69. fi+firg = fifvrs ‘
(A) IR (B) Wl (A) = HiY (B) ol
(C) Wi (D) i (C) Frawl (D) =Ely
. , 70. H4: + g = gl
62. HH= =+ WWEIEE 71 B o &) Bt
(A) HEEH (B) T i : -
(C) wHE (D) THIE © e (D) W&
71. =1 dR o 9= w1 E | 9 | Wifed
63. ‘g =l faem R ? foran Fargraor 2
(A) Fam (B) w3t (A) Tifqaras (B) AaTEF
(C) e (D) Ffa (C) uREMETES (D) ®=IHaES
64, I - Toe R TR 72, faumerd & Fifom o4 # wh s |
(A) Fawe (B) T Wﬁﬂﬁﬁﬁ mﬁaﬁﬁw%aﬁ%
cy RBfs o REEICTG | Uk SPT®R
) = Toenef 9 |l weAl #1 Feht F 7@ W
65. WU MU ITFR F AETE,. 98 R fom, wifem | onifEdl we W e
(A) IFFas (B) Fer AR
(C) Fad (D) FeEH (A) ®, U4, 98 (B) =, %M,
66. Y[E AT F1 I | (C) ®, T, (D) #, 3R, 38
(A) & 7 o o fererm fera 73, aTETTE! RORE % ey
(B) =H- 3H fawa =t foram | ey R & 9 St A
(C) =847 fawg =1 fF=w B | =i Frareft gag w e zl
(D) =94 7 fowa =1 fa=m f | (A) FEa TR, T
(B) =gd €, €1l
67. 31F &1 g¥HA (C) =TT, BTt
(A) Formefte (D) =, 8
(B) WHE W 74, FHHUHITEIAR L 7
©€) =@ (A) = (B) §
D) Fww C) % (D) w1
68. ‘TAvEAl H1HM-fA=ETEm 75 fFg i 27
. AT FHE 2 7
(A) A9 + = (B) R+ (A) T B) fsfg
(C) T:+=Al (D) T + =l (C) =TT (D) TEsRw

Ax
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76 — 80 : 379t mwerier

i E'%“Tﬁi’%%#ﬁmﬂ
St SUUIRU T Fgfasrey 37
e TR

AW RN 2 6 amafy Saw
ﬁm%lmﬁw%ﬁgﬁ:{ﬁ
o T G A % G 3771 % forg #) ey
g'mﬁﬁaﬁzﬁaﬁa@-ﬁwﬁ
A1 1w § | AT 3 el & s
TEa-H Frem A § |

T A R

1 92l W 2t § | ey o oy

B SN H M H 3 o1 Bt R | aeitfs fiaerag

7R R sfte o g i o 2 | a2 3

SO el St e o
:

| TRE G SRty - 4 i smEn

| ﬁmmﬁm%ﬁﬂﬁﬁmmﬁﬂmﬁq&ag
EH % F0 T & S ek v § e

- AT AR g e |

el 31 471 3 Tferet At gy ae g

o 2 ) 1 2 et g &

1 Je=t 5 ol & v
T 1 A ﬁmﬁﬁmaﬂﬂﬁ;ﬁ%r £

TR MEse N et @ ot a3
1 W"ﬂﬁ’fﬁﬁ?ﬁﬂﬁgmmgﬁmg,
A
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o 1 oz o fagt 5 it 35 s
L Y SR & A2 ateft 1 31 3 2
el 2 1 33 1t 1 o’ e e & weh
SIS 2755 1 11760 P e sy o o
ﬁmﬁ%aﬂ(%ﬁ%\‘wﬁi_gﬂhﬁﬁw%r

76. 3

(A) SHEEm gl

(B) HET3H 151 % 3emsfq
(C) ¥7=ra e Ieosly
(D) =r%eft = romT & gfy

e
(A) TEmgm =7 ey

(B) RS H gfidy

(C) H=erem i % 3rgeiy

(D) wedl =i =reg o iy

. mw*mﬁﬁ-mw
Tt S 728 7
(A) Sraredt =1 sem
(B) & e v €13 vl sqfifarant
(C) =i Ferd
(D) Ff=Frf

. 9f8 ey .
mm?ﬁ?ﬁqﬁ‘fﬂa‘r?ﬁw
(A) H@%mﬁmﬁﬁag@

(B) T % werrer 3 vt we 3 3y 3y
(C) et = 17§ areafers et

(D) fowgm =1 a7q

- 3 5 for vt €
(A) Jet e & wiifore g
(B) 7ol &1 7z & Heifer g
(C) atdt % watarn & Heifte Ry
(D) et & stiafees e & wefore fra
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81.

82.

v) Test of Language : English
WITT et ¢ i

Change the voice : They have built a
perfect dam across the river.

(A)  Across the river a perfect dam was
built.

(B) A perfect dam has been built by
them across the river.

(C) A perfect dam should have been
built by them.

(D) Acrossthe riverwas a perfect dam.

Select the pair which has the same
relationship.

WAN : COLOUR

(A) corpulent weight
(B) insipid : flavour
(C) pallid : complexion
(D) enigmatic : puzzle

Direction 83 - 84 : Choose the word which

83.

84.

Ax

is the exact OPPOSITE of the given
words.

OBEYING

(A) Ordering

(B) Following
(C) Refusing

(D) Contradicting

FRAUDULENT
(A) Candid (B) Direct
(C) Forthright (D) Genuine

=20~
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85.

87.

0 0 G A AR o

Indirect/Direct speech: “If you don't

keep quiet | shall shoot you", he said

to her in a calm voice.

(A) He warned her to shoot if she
didn't keep quiet calmly.

(B) He said calmly that'| shall shoot
you if you don't be quiet.

(C) He warned her calmly that he
would shoot her if she didn't keep
quiet. .

(D) Calmly he warned her that be quiet
or else he will have to shoot her.

Itis not easy to remain tranguil when
those aroundyou ...

(A) behave in a socially acceptable
manner

(B) exhibit pleasant mannerism

(C) are losing their heads

(D) agree to whatever you say

“The food in this hotel is no match to
what were forced at late hours in Hotel
Kohinoor” means ...

(A) The food in this hotel is quite good
compared to what we ate at
Kohinoor

(B) Hotel Kohinoor served us good
quality food than what we get here

(C) Both hotels have maintained good
quality of food

(D) Both hotels serve poor quality of
food

Find the correctly spelt words.
(A) Treachrous

(B) Trecherous

(C) Trechearous

(D) Treacherous
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89. Find the correctly spelt words
(A) Forcast (B) Forecaste
(C) Forcaust (D) Forecast

90. To cry wolf
(A) To listen eagerly
(B) To give faise alarm
(C) Totum pale
(D) To keep off starvation

List of the business or subjects to be
considered at meeting

(A) Schedule (B) Timetable
(C) Agenda (D) Plan

Leave or remove from a place
considered dangerous

(A) Evade

(B) Evacuate
(C) Avoid

(D) Exterminate

Direction 93 - Order the words.

* 93. A French woman
P: committed Suicide
+ where she had put up
who had come to Calcutta
by jumping from the first floor

balcony of the hotel

The Proper Sequence should be
(A) PRQS (B) QSRP
(C) RPSQ (D) SRQP

JDD-34FPGT-SANS!X-14

Direction 94 — g5. Read the each sentence
to find out whether there is any grammatical
errorin it. The error, if any will'be in one part
of the sentence., The letter of that part is the
answer. If there is no erro r.the answer is ‘D"
(Ignore the errors of punctuation, if anyy).

94. Solve as per the direction given'
above.

(A)  The Indian radio

(B) which was previously controlled by
the British rulers
(C)

is free now from the narrow vested
(D) Noerror

interests.
Solve as per the direction given above.
(A) 11 had known '
(B) this yesterday
(C) 1 will have helped him.
(D) Noerror

Direction 96 — g7 : In the following the
questions choose the word which best
expresses the meaning of the given word.

96.. WARRIOR
(A) Soldier
(C) Pirate

97. DISTANT
(A) Far
(C) Reserved

| saw a

(B) Sailor
(D) Spy

(B) Removed
(D) Separate

of cows in the field.
(A) Group (B) Herd
(C) Swarm (D) Flock

The grapes are now - enough

o to be
(B) Mature

(A) Haady.
(C) Ripe (D) Advanced

Success in this examination depends
hard work alone.

(B) Over
(D) On

(A) At
(C) For

-21-
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81.

82.

R0 0D 0 00 0

v) Test of Language : English
ATT Tt ; S

Change the voice : They have built a

pe

(A) Across the river a perfect dam was
(B) A perfect dam has been buiit by
(C) A perfect dam should have been

(D) Across the river was a perfect dam.

Se

rfect dam across the river.

built.

them across the river.

built by them.

lect the pair which has the same

relationship.

WAN : COLOUR

(A)
(B)
(C)
(D)

corpulent : weight
insipid : flavour
pallid : complexion
enigmatic : puzzle

Direction 83 - 84 : Choose the word which
is the exact OPPOSITE of the given

wo

rds.

83. OBEYING

84.

A*

(A)
(B)
(C)
(D)

FR

(A)
(C)

Ordering
Following
Refusing
Contradicting

AUDULENT
Candid
Forthright

(B) Direct
(D) Genuine
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85.

86.

87.

88.

Indirect/Direct speech: “If you don't

keep quiet | shall shoot you", he said
to her in a calm voice.

(A)
(B)
(C)

(D)

He warned her to shoot if sh
didn’t keep quiet calmly.

He said calmly that | shall shoc
you if you don't be quiet.

He warned her calmly that hi
would shoot her if she didn't keg
quiet,

Calmly he warned her that be quie
or else he will have to shoot her.

Itis not easy to remain tranquil when
those aroundyou ......

(A)

behave in a socially acceptable
manner

exhibit pleasant mannerism
are losing their heads
agree to whatever you say

“The food in this hotel is no match to
what were forced at late hours in Hotel
Kohinoor" means ...

(A)

(B)
(C)

(D)

The food in this hotel is quite good
compared to what we ate at
Kohinoor

Hotel Kohinoor served us good
quality food than what we get here
Both hotels have maintained good
quality of food

Both hotels serve poor quality of
food

Find the correctly spelt words.
(A)
(B)
(C)
(D)

Treachrous
Trecherous
Trechearous
Treacherous
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89. Find the correct| | : Direction 94 - 95: Reag the each sentence
> oelly speftwonds | o find out whether there is any grammatical
(A) Forcast (B) Forecaste |errorinit. The error, if any will be in one part

of the sentence. The letter of that part is the

(C) Forcaust (D) Forecast answer. If there is no error, the answeris ‘D’
- (Ignore the errors of punctuation, if any).
. Tocry wolf

- : 94. Solve as per the direction given *
(A) To listen eagerly above,
(B) To give faise alarm (A) The Indian radio

(B) whichwas previously controlled by
(C) Toturn pale the British rulers
(D) To keep off starvation (C) istfree ?nw from the narrow vested
interests,

91. List of the business or subjects 1o be (D) Noerror

Considered at a meeting 95. Solveas per the direction given above.,
(A) If I had known :
[A} Sﬂhedllle [B] TﬂTIEtabe [B} this }FESTEI’day
(C) Agenda (D) Plan (C) 1 will have helped him.
(D) Noerror

92. Leave or re e fr
Psom a place Direction 96 - 97 : In the following the

Considered dangerous questions choose the word which best
(A} Evads expresses the meaning of the given word.
(B) Evacuate 96.. WARRIOR
. (A) Soldier (B) Sailor
(€) Avoid (C} . Pirate (D) Spy
(D) Exterminate
97. DISTANT
Direction 93 : Order the words. (A) Far (B) Removed
o (C) Reserved (D) Separate
93. A French woman 98. lsawa of cows in the field,

P: committed suicide (A)  Group (B) Herd

| Q: where she had put up () Swarm (B). Flogk 3

' : 99. The grapes are now enough
R: who had come to Calcutta . to be picked,
S: by jumping from the first floor (A) Ready (B) Mature

: balcony of the hote| (C) Ripe (D) Advanced
The Proper Sequence should be S S”“mssﬁgfé’ﬁﬁff g::;.nr?é{m S
(A) PRQS (B) QSRP (A) At (B) Over
(C) RPsQ (D) SRQpP (C) For (D) On
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101,

102.

103.

104,

105.

106.

(A) e (B) wafirg:
(C) smgi: (D) Tasster:
HTEAT: e o e 7

(A) Sifor (B) ==l

(C) o= (D) w2

(A) TR

(B) =1 faummEfyaafy

(C) ¥ ATeR=AaTe oafdy

(D) ¥ :[aaqeia
IR 3fa e T 7
(A) Tecfrrer (B) T
(C) =aee (D) TZHE
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110.
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113

114.

115.

116.

117,

118.

i

A+

)
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124,
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122,
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AP Varartfor =fy 7
(y wa (B) 7
©) = (D) w=Ew
FRI R srerera) dh oty 7
(A) 7 (8) fifr
€ "R ©)
Ryl
et o 3w 7
(A} :Rﬁq (B} Em:la:[
e (0) ST
(A) waeey (B) umzwy
(C) STy (D) T
(A) *T=: (B) arorrdifirg.
(C) &z (D) H=:
(A) == (B) =I=m:
= ™ (D) W
TR %1 T: TYT: ?
A B B) w:
(C) =% I:D] T
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101.

102.

103.

104,

105.

1086.

WHT -7
mﬁﬁﬁiﬁaﬁqa._

HISETE yads. 5.7

.5 107 Y
(©) " mgR (D) wwesrfy '
(A) oy (B) Tl 108,
(C) w5 (D) v
SRR o —Srsgaey S
aq Fhfireg=ry 7 5
(A) @TW‘Iﬁ\qEFq\

(C) omfirafaesy 109,

110.

" TR
M. saaficrend. . 7

(B) I fayemafy znfy -
(A)

(C) Hmmm 5
(D) ¥ : adanefs (C) THem

112, 3ufieq, sreian. sapers T
(A) Tt (B) et 5 %:3‘51{._
(C) =g (D) gz | (C) Seumay
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126.

121,

128.

129.

130.

Ax*

AAZRIE Fiq weyrf g9fF 7
(A) o (B) =aalt
(C) 9= (D) =2

‘i feTess: wea. FEam 3 3
afireffard 7

(A) EfoET

(B) TrTIRELm

(C) ST=ERE

(D) wemvriéa=

S T aE: = 7

——

131.
132.
133.

134.
135.

136.
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T O T A

TTErETE FHid: F7 7
(A) ErdriiE
(B) FTEIHIHE]
(C) Temdmmn
(D) wfecadiE

e TR fRg ?

(A) ¥Taare

(B) 4

(C) =wemEe]

(D) =IET:

el e R s Y 7
(A) TAAUTETEA:

(B) ey

(C) YieavFgaasg

(D) HAelvETET

EqehTT07 Shid 7
(A) =91
(C) W&AE

(B) =W
(D) FHe2rEw

AT AT, T ¢
(A) HIEq

(C) =HHEq
HEAETH o ¢

(A) ¥
(C) ‘s¥

(B) wH@EH
(D) THEq

(B) &¥
(D) <%
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137. BFHIE: 30T BF9eE 5 & ?
(A) gfvsa: (B) we:

(C) =aw: (D) TS

. T8 Seeen o 3 add ?
(A) HEex (B) HFwan
(C) g™ (D) F=

. T s gee FisaEn: 7
(A) TR
(B) gHHH

(C) wHreafersy
(D) HYT=T=r:

. TSI shigaT: I9ETIT giafy 7
(A) gEREa;
(B) HEdmHa:
(C) FHraraiea:
(D) TR
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. YSIEEUEH] TS T FISHE: 7

(A) JAERIERTE:
(B) wﬁ@ﬂ
(C) vorm:

(D) FUSeTerzm:

. fremamfisfy

(A)
(B) e

(C) wrem
(D) sTeeEy

. O T A F Yo T ?

(A) @i
(B) W,
(C) =,
(D) ==

. TeTieeed] Soers: figel ar; ?

(A) HREm:
(B) Hiefera:
(C) Hitrz:
(D) s

. TR g e W e 7

(A) =M IER: TIY:

(B) TR Yacaaeeara: Tem:
(C) T HHTEHE T
(D) o FeefenTe: Yeu
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147, ‘m%m’as:ﬁrﬁaqq? 151, F=eeg oo 391 9yT: & 7
(A) Fem: (A) 9= 379; vag
®) TR (B) wu fafem: vowy
S (C) =gt: Hiv: ya=g
g (D) HFuRIfafys: nemg
148.  STE-H TI=-0 Fo0d FISTE: 7 4 itk
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IMPORTANT INSTRUCTIONS TO CANDIDATES
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This booklet contains 32 pages.

Please check all the pages of the Booklet
carefully. In case of any defect, please ask
the Invigilator for replacement of the Bookiet.
Directions : Each question or incomplete
statdment is followed by four alternative
suggested answers of completions. In each
case, you are required to select the one that
correctly answers the question or completes
the statement and blacken (@) appropriate
circle A. B, C or D by Blue/Black Ball-Point Pen
against the guestion concerned in the
Answer-Sheet. (For V.H. candidates
corresponding circle will be blackened
by the scribe)

Mark your answer by shading the appropriate

circle against each question. The circle should
be shaded completely without leaving any space.
The correct methad of shading is given below.

[wirong rummd]wmg Method ]I Wrang Mathod || Cerrect Method

O®R00|0®00|I0@®@00|0CeC0]

The Candidate must mark his/her response
after careful consideration.

There is only one correct answer to each
question. You should blacken (@) the circle
of the appropriate column, Viz., A,B,CorD.
If you blacken (@) more than one circle
against any one question, the answer will be
treated as wrong. If you wish to cancel any
answer, you should completely erase that black
mark in the circle in the Answer-Sheet, and
then blacken the circle of revised response.

_ A machine will read the coded information

in the OMR Answer-Sheet. In case the
nformation is incomplete/different from the
information given in the application form, the
~andidature of such candidate will be treated
as cancelled.

Use the space for rough work given in the
Question Booklet only and not on the
Answer-Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be
indicated in the Answer-Sheet only.
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Go through instructions given in Page No. 1 (Facing Page)
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